1473 ARSRN BT 2 058285 - SPREFRY 27

Eg2 T OB Bz

Fr@EdBALLEAE
l. 23#EB4A ] x-R - FERFFTALL 8 TR I PEFT LR  ZFLHR -
2. PPFHEAFeIAL I - SERH - ~FEH = FEHE e CRTH 31004

- - EBR(FH2LH X 204)
( DLl T>22hpr 33,10 BET 559
D102 Q102 Q1002  @1000 2= o

C D2 TE&aoe 983600022 > dad g+ 98219200 )e ;) pend g

OEREIP Q@ 2w Q2FE @ T2 o

() B M Febget > Tovi- pra? O 2B F=30E  Q
Q WA ERIME=1LF D 2}MEIMAE = F o

() 4 - X AL 1200 i@t 408 REELFATIFNG 5 R EEAPE S S Q
Opr-24~ O 48~ Qr 24~ @ 2B~ 2B~

()5 TALE ety o vi- BEgEN? D 1 24 =1000000 = = =~

\4
R
>

e
X

Ly
I

4

\4
R

e

@1 2w =1000000 = = =& Q1 2#E=1000000 2. @1 -T=> 22 =1000000 2> o

) 6. SugApte L 10980 ~ > HFHFF H UG E- S N8 RFEG F L IO%0FF g 0 5 5§ S
MFA AR E - R BETT 20 FEEBO FRFEHO S HD EiEvo

) T AR R S He - K E R 67000 23 2t vk o F A - 011 P AL ZERBE D
k9 O 2010 & @ 2077 B 2010000 & @ 2077000 A& -

)8 F - BEIMA e £ 30 24 ~ T 20 A 0 AG KK kB 145 24 s ks BRES )
23Tz ameiBrkis kg P AFIIT 2?2 O23F Q5% O 103 @ 153 -

) .82 g3 G XBE? D 6@ Q8 B QS 10 ® @12 ® -

0. k=0 RlkE* 3522 O[XxO Q@ 01 O *,x0© @ [kO -

S PER (FH2AE164)  I~A RN Xk dilic b~8 B R 2T A S
1) X -4218=9822 2) 8304—X=6875 3) X x71=1633 4) 6715+X =79

5) 20532 = ( )% [6) 1—471%=C )% |7) 8 Yog |8 1-0.175= () %

I
~




CFER (5364, %
;%LD“ A< >E=o (FH1A)

@D 950000 T > == |:| 950 23

2.2 T & o (FR1A)

10070 = [ ] 10.7 2w
%[]1%%

SHIFIMER2A.)

Q 1.8 >4 [ ] 1800 »~=
® 33%[ ] 0.3

oo R i ke R % 2 i hip T B de
4 LA
Zkfr 2
= 4 6
I b4 6
1 6
3. traiEd e B( YAyt ek v aple £ EE
4. Pl 20 6 0 B F 1S A )35 5 Fl4ienple + 24 5 0 B E {5 E( )3 o
5, 8 a2 70 2 =( ) c.c. =( o= ( ) A e
6. AR > * A E S
O-#F X cocoamh f24m s 75 459k At 5 A At 5 288c.c. o ( )
@—@ﬁ%@%Xm’%&\¢ TR BW BRI BRT 2722 o ( )

- R AE (K 284)
1.1ii4"ﬁ—4ﬂa§ﬁ640 Rehl AT 2 F - Hem fF 5 125500 T2 ok ehd e, H Y
A BT o EBRFIT LIS WL B ? 6.00 2 EFEZT FI T T AL DH S FHD
(4 %) BAEASE?(4A)
.- BRIFNEMAL > hehE 29 00 v B |4 Bk E SR 21002 > B SSk
16 A?\rgll S o BRE 0.5 A BEH Ao #0450 o H kg 9 (F AFfc N H3t

A/ 204 5)

§o4s)

— @ T 420 2 o WEAE AR T A 2696 o
Higt H16% 0 BFI T AL aHE? £ B ?
(| #ic# ) (64)

\

CRRRE S E B A E G 60 24 232 24 50 2
ez g ok P VR S BEE 12 A}A\é‘n_ﬁ’s
HfE A 240 50 BAE A 0 597 S FRqTied e ?
(6 ~)







